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(003) 4 fib 2 (0202J6)17 Hy 4 (00)ANIX 43-8F 53 77 [F) LR 23(*r*rkrkrkRExQDT 81.63 | fit
(003) &b 2= B (0202J6)17 Hy 4 (00)ANIX 438t 53 77 [F) ZfE Q3 rrwrwrknininpAg 79.08 | Wit
(003) 4 fib 2 (0202J6)17 Hy 4 (00)ANIX 438t 53 77 [F) FEEM T ool 471 8543 | Wit
(003) 4 fih 2= B (0202J6)1T Jy <= (00)ANIX 23 8F 5 J7 [ XA K710 i 1) ¢ 91.12 | Wit
(003) 4 fih 2= B (0202J6)1T Jy <= (00)ANIX 23 8F 5 J7 [ FREAF Z7Qrxrwraririxg() 82.80 | it
(003) 4 fih 2= B (0202J9) 4 & 4 (01) B 5 il P55 5 BRI 7= o T §22*****xrEx019 9220 | HiEA
(003) 4 fih 2= B (0202J9)4 & 4 (OB NIRRT RS 577 B 150 R4 06 71.60 | fiit:
(003) 4 fih 2= B (0202J9)4 & 4 (OB NIRRT RS 577 EHPHA 5QQ**xxxrErEx1 Q7 85.60 | fiit:
(003) &Rl 2 ¢ (0202Z2) %> fih T-H2 (01) 4 Rt XI5 7 B REE X [0 it X K 92.50 | Hi#HA
(003) 4 fib 2 (0202Z2) 4l T 72 (01) &l 7= &t F&H 2 QFr*rkrirRRR()D 73.80 | Wit
(003)4:fib 2 (0202Z2) 4l T 72 (01) &l 7= &t % 7t 5 Qx*xssrsrinin]G) 88.54 | fit
(003) &b 2B (0202Z2) 4%l T 72 (01) &l 7= &t K ]V e P/ 83.14 | Wit
(003) &Rl ¢ (0202Z2)4%:fh T2 (01) &Rl B 7= 5 R BAQ**H*rrxRxFA*Y DY 92.86 fisi -+
(003) 4 fib 2 (0202Z22) 4> il T 74 (02) 4t JXL [ A 7 Al 4 Qr*rrrkrininqg() 81.00 | it
(003) 4= fib 2 (0202Z2) 4 fh THE (02) 4 R 7 1 =% A 20 oot 77) ¢ 86.06 | it
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(003) 4= fib 2 (0202Z2) 4%l T 72 (02) 4 JXL [ 4 7 i Y I e (51 79.14 | Wit
(003) &b 2 5% (0202Z2)4:fh T2 (02)4 ik AL 5 B J& B 2 I Db 4 81.28 fifi -+
(003) 4 fih 2= B (0202Z2)< il 7% (02) < i JXL i A B THE 5 Qr**ssssksinn 07 81.86 | fijit
(003)&:Fl 5% (0202Z2) 4 fh THE (02) 4 R 7 1 T/ K]0 iabieiobiaieda 0 D¢ 67.47 | Wit
(003) &Rl ¢ (0202Z2)4%:fh T2 (04)EcAb 4l o3 Hr mik FE BH 2] Ferwrrsarix)O() 76.50 fisi -+
(003) 4 fib 2 (0202Z2) 4%l T 72 (04) Ak &/l Bt ¥ KO bbb 7 83.14 | Wit
(003) 4 fib 2 (0202Z2) 4 fh THE (04) Ak &/l Bt RS 43Q**rrrkrinix (D) 73.74 | Wit
(003) 4 fih 2= B (0202Z2)< il 7% (04) Ak &/l Bt KAEE 51Q****xrkrkrkx (02D 75.00 | #it
(003) &Rl ¢ (0202Z2)4%:fh T2 (04)EcAb 4l o3 Hr BRIERE 4 rreriariarin] 36 77.80 fisi -+
(003) 4 £ Bt (0202Z2) 4= il TH2 (05) %5~ 2H & & LZ8 3T a7 > 4 78.46 | it
(003) 4 fib 2 (0202Z2) 4%l T 72 (05) T P~ 4 & #E BEl (10 e < V15 73.39 | Wit
(003) &Rl 2 ¢ (0202Z7) Rk 2 (O1) AU 15 PR 5 BE 18 15 SIZ i B B2Q*****x*xrkxxGD3 86.30 fisi -+
(003) &b 5% (0202Z7) Rk 2 (O1) AU 55 PR 5 BE 18 15 SIZ HIE 5QQ**********x+QD8 85.80 fisi -+
(003) &Rl 2 ¢ (0202Z7) R 2 (03) RIS AS 5 T 3 FHrixamining 93 90.80 fisi -+
(003) 4 £ Bt (0202Z7) R %5 (03)LRKHE RIS 5QQ**x*xxxxining 86.40 | Mt
(003) 4= 4Bt (0202Z7) R 2 (O3) PRI HE 5 B 5QQ******xkxssx520 82.90 fisi -+
(003) &Rl 2 ¢ (0202Z7) R 2 (03) RIS AS 5 Z= 0 5 Q*r*xxrixixr )57 84.54 fisi -+
(003) &b 5% (025100) %> Fil (01)&:fih 2 SiFTHE 35Q******FxIEXA5DD 88.26 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k iy N 5 Qresssrkringg() 81.74 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 PR 350 *r*xrHxFE*H (D1 68.86 fisi+
(003) 4 £ Bt (025100) (01) &2 Tk B 42 FHrwrkrkrarx()D3 86.14 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 s 5 3F*rxxrkrrkrrgnD 83.00 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k STl VR0 bbb 15>'¢ 7494 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k ZHRE 1 3Q¥rHrrReRER ()G 81.06 | it
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(003) 4= fib 2 (025100)4: it (01) 4k PR 13 Fersxsarinix()D() 7526 | fit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 79531 522 **¥xxxxrkxrQR() 81.86 fisi -+
(003) &b 2B (025100)%> fil (01) 4k BXE 4 QFxrwrwRIAIIXEAY 80.14 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k YFiE Q3Q**rrrkrining 4() 7246 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 [ &2 7/ 10 aieobaiobaie’s T )¢ 78.70 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Ll 15Q***x*xrkxrxx3D 1 78.50 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k wTE 5 Q*r**srsxses()Dg 79.00 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k Z= 5 2 Q¥r*rkrkrinix3 D 7560 | Hit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 KFEF 2 QrHxrHxHERIEX ()] 1 82.00 fisi -+
(003) 4 fih 2= B (025100)<:fi: (01)<:Ft 2 VPSS 29 QFrrrrEx044 80.66 | Mt
(003) &b 2= B (025100)%> fil (01) 4k 8RE 2 qrraririninix AL 8140 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k #tatn 4 ] *rwrsrinininpgQ 75.80 | Hit
(003) &b 5% (025100) %> Fil (01) &2 5 9A R 1 52*xrkxrANIAXD) T 83.46 fifi
(003) &b 5% (025100) %> Fil (01)&:fih 2 oz [ iieaieiaiaed [ 82.00 fisi -+
(003) &b 5% (025100) %> Fil (01)&:fih 2 =3 2 r¥xrErIERIEX (DG 80.66 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k W& 32Qr**rskrkREX (DG 83.26 | Wit
(003) &b 2= B (025100)%> fil (01) 4k R B4 rrxmaririnixglQ 78.94 | Wit
(003) &b 2= B (025100)%> fil (01) 4k FR4a 4 QFr*rErirRRQEY 83.00 | #it
(003) 4 fib 2 (025100)4: it (01) 4k Fik Q3Q**rkrkrining ()3 78.40 | Wit
(003) &=l 2 bt (025100)4: i (01) 4= E5E 22(¥rH*xHRIIXTOG 71.54 fifi 4
(003) 4 fib 2 (025100)4:fit (01) 4k Z=/heL 5QQ******xkxxx ) 73.06 | fit
(003) &b 2 5% (025100) %> Fil (01) &2 S B53*H*xrxNIEXIGA G 81.40 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k HArE SR [0 oo Y21 84.00 | it
(003) &b 5% (025100) %> Fil (01) &2 WE R 23(*rH*xEkRRREXD DG 83.86 fifi
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(003) 4= fib 2 (025100)4: it (01) 4k FRHE 23(**rkrkREREXGDY 7410 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 e 5] J7QF***xxxxrkxxT 4 82.20 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k B3 K710 bbb oV 83.06 | it
(003) &b 2 5% (025100) %> Fil (01) &2 i g K210 eiaiedobeiodel 774 67.86 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k h&E 1010 bbb 0 o) 7714 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 RRHA%T 710 iehaieatael 116 79.20 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 &5 B 33QFHHHHraRIAAT (3 88.80 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k HE K]0 bbb Y21 78.06 | fit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 P 13Qxr*xRrRriQ | Y 86.60 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 X R K7/ Reiobcicbaiohoiel 47 87.00 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k Lo gF 1510 bbbl o7 78.60 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k TR 750 bbbt ¥ (0 75.00 | #it
(003) &b 5% (025100) %> Fil (01)&:fih 2 %] 32(QF*rHxxFxREXI] DY 85.20 fisi -+
(003) 4 fih 2= B (025100)%> fil (01) 4R 2= {0 bbb ¥ 84.70 | Wit
(003) &b 5% (025100) %> Fil (01) &2 Zefltk J7Q*+*xrsrxrixr5OQ 73.46 fij -
(003) &b 5% (025100) %> Fil (01)&:fih 2 ZER 5QQ*******xrkxx531 77.60 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k LTE S 710 lebeioiabd(0 167 76.94 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k B} (0 e < V'V 7714 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k hEva) 34Qrrrrrarrrerg() 76.46 | fit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 TR Q3QFH*+**FERIEX(OGT 76.86 fisi+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Wi B BEQF*rrwraRRARGAN 82.90 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k HEE T5]0 iabieiobiaioia 77> ¢ 83.06 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 paY i 35Q****xr*xrkrr388 74.40 fisi -+
(003) &Rl ¢ (025100)4> fil (01)4&:Fh = =F-¢73 1010 bbb X 82.40 fisi -+




7l R U 2 K5 2023 4EHE 7 S A U B ST AR SR B 48 B

EBUERE FHCE KB F T 9] 4 55 RS RE
(003)&:Fl 5% (025100)%: fil (01) &R~ E 3Q******rrxk*x90Q 75.80 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 T Eth 3BQ*******xrxxx(2() 73.50 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k KX K10 VAot ¥ [ 81.20 | it
(003) 4 £ Bt (025100) (01) &2 PR K10 Al [0} 76.00 | it
(003) 4 fib 2 (025100)4:fit (01) 4k ZHE 4 QF*rrrnrrarix()Dg 85.60 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 IR 33QF*r*xrHxrxr8OQ 80.86 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k FEE 1510 oot [ 57 87.46 | Wit
(003) &b 2 5% (025100) %> Fil (01) &2 ZER 14 Q*rrkrrrnrrix)() 87.34 fifi
(003) &= fil 2 bt (025100)4: i (01) 4= IINERHL KY {0 bbbt S [ 85.46 fifi -
(003) 4 £ Bt (025100) (01) &2 KFHE 13 rrenrinkrirs ()05 78.14 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 XA B 7% 0 ichaieiaiaiied F 151 78.66 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k HE 7R [0 bbbl sToY 84.94 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k FEHEK 7N [0 bbb -77)'¢ 7714 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 R QAQrH*+***ERIEXEA () 80.80 fisi -+
(003) &=l 2 bt (025100)4: i (01) 4= XUE 7% 0 bobeioiodobeief T2 Y: 82.74 fifi
(003) &b 5% (025100) %> Fil (01)&:fih 2 FBRE QA A HFxFFRRERIEQUR, 80.20 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k #r—ng 4 Ferrrnrrarin ()]G 75.34 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k B RAE 13Qr*rwrsarERRx ()Y 7734 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 PREZE 35Q***xxFx*E* (DN 81.34 fisi+
(003) &Rl ¢ (025100)4> fil (01) &R FLBELE 43QF*r*rnrsarix)Og 84.74 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k T 1 3Q¥rHrrRERREOG 71.80 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k it Z7Qrerrrkrkrx ()36 83.34 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k EH5 43*rwrwrkninix()Dg 76.10 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k B SR [0 oo sV V) 89.90 | it
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(003) &b 2 5% (025100) %> Fil (01) &2 SEAETN 1 3Q*rrkrrarR*() D6 81.74 fifi
(003) 4= fib 2 (025100)4: it (01) 4k R Z7Qrersssrkrix 0O 82.66 | Hit
(003) 4= fib 2 (025100)4:fit (01) 4k & QB *rwrnrsarxGAT 76.60 | fit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 FE2 QB*F*HIXIIRIEXYAL, 81.74 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Seigk 5 QF*r*xrkrririgqq 68.66 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k N5 5 q*xwesarinies)g 85.80 | it
(003) 4 fib 2 (025100)4:fit (01) 4k e 142 *xwxxxrinix()DQ 83.40 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 HE S lioiciobaieieda -0 81.50 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 JETEH 51Q*******x+¥x2390 86.26 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k FKAT ik 51 *essssrinix()DE 81.66 | Hit
(003) &b 2 5% (025100) %> Fil (01) &2 =% 5 Qx*xrssxsixrg gl 74.30 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k HEE 5 Q¥xxesssserirngq 84.00 | it
(003) &b 5% (025100) %> Fil (01)&:fih 2 FERT 5Q****xx¥xrkxrn (4 78.66 fisi -+
(003) &b 5% (025100) %> Fil (01) &2 JERRE 5 Qx**xrsensixrgq 78.46 fifi
(003) 4 fib 2 (025100)4: it (01) 4k B3k 5 q*xwesasinnesg3() 77.06 | fit
(003) &b 5% (025100) %> Fil (01) &2 ZEEKER (o3 I iiaiedobedodesTo 80.94 fifi 4
(003) 4 fib 2 (025100)4: it (01) 4k JaEARS] BQQ*****xsrkrix (D5 83.34 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 KA S ioiciebaieieda 0 210 73.06 fisi+
(003) &b 5% (025100) %> Fil (01)&:fih 2 F R 51 3F*r¥xxsxrirr506 79.20 fisi+
(003) &=l 2 bt (025100)4: i (01) 4= P ES 14QFxrsrrsaxrix()3() 78.94 fifi 4
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 ZIEE 22(*******xx*E*50Q 83.46 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k EZHER K oot 019 ¢ 92.70 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 B 34QF*r¥xrxr*IGA 5 81.20 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k FRH B4 Qrrersrkrkning3 88.40 | Wit
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(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Bk Y cicaieed C F- 82.60 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 PRIAE 352 *xHxHERIERH (D1 82.26 fisi -+
(003) &b 2 5% (025100) %> Fil (01) &2 R R 8k J7Qx+*xrRxIEXEGID 85.54 fifi
(003) &= fil 2 bt (025100)4: i (01) 4= I BH ik QA rxmiaminniing 43 80.66 fifi
(003) &Rl ¢ (025100)4> fil (01)4&:Fh = URIES QYQrHerrrrirTixGAL 85.00 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k BAWNE 5QQ******x*xxxx90Q 91.86 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k REZAH BQ*****srkringq3 88.54 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k =8 5QQ*****xrxrxrg()() 7540 | Wit
(003) 4 £ Bt (025100) (01) &2 2K FE 5 Qrexsxsxinixpl3 83.06 | Mt
(003) &b 2 5% (025100) %> Fil (01) &2 Wi & 5 Qx**xxsrxsixr 57 () 82.46 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k HZ 5 Q*r*rsrsxseszn 80.54 | Mt
(003) 4 fib 2 (025100)4:fit (01) 4k (28T ) bbb VA I 84.66 | it
(003) &b 5% (025100) %> Fil (01) &2 R SR I bbbl Vo ¢ 86.94 fifi
(003) &b 5% (025100) %> Fil (01) &2 2=t 5 xrwxssansixs ()7 83.94 fifi
(003) 4 fib 2 (025100)4: it (01) 4k A Y Rt & 84.80 | it
(003) &b 5% (025100) %> Fil (01)&:fih 2 B S ioieiebaieiede’s 21 79.00 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k E# 5 rrewsssrkningoy 85.46 | fit
(003) &b 5% (025100) %> Fil (01)&:fih 2 g 5 3F*rxxrkxrkrig (G 80.54 fisi+
(003) 4 £ Bt (025100) (01) &2 R 51 3resxssininixy oy 81.14 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 A 52(Q**x*xxxxrkrrgg X 87.80 fisi+
(003) &= fil 2 bt (025100)4: i (01) 4= BB B3Q**rkxHRARR()D | 87.20 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k EEE (31510 e O D4 83.20 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 BEE UK (1Y Ao YV & 86.86 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k 35 (1Y bbbt S ) 75.60 | fit
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(003) &b 2 5% (025100) %> Fil (01)&:fih 2 ARE 522 *x¥xxsxxkxx 39X 70.00 fisi -+
(003) &b 2 5% (025100) %> Fil (01) &2 2=/ 35Q**xrkrrAxrg g 71.46 fifi
(003) 4= fib 2 (025100)4:fit (01) 4k A 5 Qr*esskrkning 3D 78.34 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 A &a 320 * ¥ *x*xrxx005 79.60 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k &Y AN 510 oo 07/ 81.26 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k PR oK VAo sV X 73.00 | #it
(003) 4 fib 2 (025100)4:fit (01) 4k TKa SN IS i (015 65.80 | it
(003) &= fil 2 bt (025100)4: i (01) 4= LSS B2Q***xrHrxREXH (DY 81.14 fifi
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 X O B3Q*****rkxskxxDD3 85.46 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k iy g0 iobieiobiadatc V' 87.00 | it
(003) 4 fib 2 (025500) 5% (00)ANIX 438t 53 77 [F) B4R 1 3Qr*xsassrirRx)) 80.80 | it
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [F) H =Bk 4 2¥xwxwxnxrxrx)py 80.50 | it
(003) &b 5% (025500) £ (00)AS X 43Tt 58 7 I ZE 14 2*xrkrninniixfng 82.70 fifi
(003) &b 5% (025500)f# 5: (0O) AN X 3Bt 95 77 171 K 2 rHxmExRERIRY DN 74.30 fisi -+
(003) 4 fib 2 (025500) 5% (00)ANIX 43 8T 53 77 [F) GRS 43 rrererininixnq() 86.40 | it
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [r SEfEEE 2 Q¥r*rrrkrErxT (G 85.46 | fit
(003) &b 5% (025500)f# F5: (0O) AN X 3Bt 9 77 171 -4 QD }¥*}F*IEXIXG] 5 86.90 fisi+
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [r Br¥T T K110 ool I 83.80 | it
(003) &b 5% (025500)f# F5: (0O) AN X 3Bt 9 77 171 bt J7QF*rHerkxRkxx (D1 77.80 fisi -+
(003) &b 2 5% (025500)f# F5: (0O) AN X 3Bt 9 77 171 REH J7QF****x*x**xx399 85.30 fisi+
(003) 4 fih 2= B (025500)Fx (00)ANIX 43 Wt 58 J7 [r BB 513*xxrkrkrixn()7 7480 | Wit
(003) 4 fib 2 (025500) 5% (00)ANIX 43-8F 53 77 [F) r257) (7 Aibieiaiiobad )¢ 88.30 | it
(003) 4 fib 2 (025500) 5% (00)ANIX 43-8F 53 77 [F) 5 50 2(**r*rkRERERY DQ 90.26 | it
(003) &b 2B (025500) 5% (00)ANIX 43 8T 53 77 [F) . | 4 Qrrerrririxix)EQ 85.66 | it




7l R U 2 K5 2023 4EHE 7 S A U B ST AR SR B 48 B

RAFB RECE R FTT [ w4 S Hidigt R4

(003) 4 fih 2B (025500) s (00)ANIX 438t 51 J7 [F RH 5 Qr*esrkrkninqgg

WG 16  H48IT
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(004) .7 & B 2% Bt (1201Z5) K #ff & # (1) K& 5 v & e g 51QFrremme217 7260 | HiEA
(004) -7 & B2 Bt (1201Z5) K Hdi & £ (O1) RE¥E 5 s e S WP 7Y 0 ieiabieaiorc L ! 84.76 fifi -+
(004) T 5 & P 2 ¢ (1201Z5) K H i & B (O1) R¥ s 5 s e =$-¥0 70 bbb} 83.26 fisi -+
(004) T & B2 Bt (1201Z5) K Hm 45 22 (01) K& 5 sk & fe X VR0 bbbt (oY 85.78 | Wit
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